. AP Calculus Ch.6 Test Review WS ‘ (Non-Calculator)
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7. Findf'(x) if fx)= ,Hl“tzd” 8. Findf'(x) iff(x)= J.\/1~t2dt
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11. If a(t) = 126* + 18t — 4 and x(1) = 3 and v(-1) = 9, find the below:

a) Find the specific function for v(t) b) Find the specific function for x(t)

12. The graph of f below consists of a semicircle, triangles, and squares. Find the average value
of fon the interval [-2, 5]
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12. The graph of f below consists of a semicircle, triangles, and squares. Find the average value

of fon the interval [-2, 5]

e

‘4"3 value = | j F(x)ix P f‘f@d&@é

;‘yix Lo
|2 . - 4”\
AL | "%;;i' TR = ¥wﬁ ~
3 bl b VNSRS . * - )
3‘. 2 l 0 /W i ) ﬁng u;{fj‘,{f - !£+ ‘\
Jos | /\ M»ﬁ )
olrd fy 2 4 - )
Py ! o for IR I o 4(-*“’ i ( P e
N IR TS SR 2



A.P. Calculus

Review Integral Rules:
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Review Integral Rules:
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Ch. 5&6 Test Review WS #4

d
'\{)Considerthe differential eqzétiona% - (X3 - 3)(2y — 1)

a slope field for the given differential equation at the nine points

b) Fingthe particular sol %)n y = f (x) to the given differential equation with the initial condition

fONE 1. ;

¢} Find t quation of the line tangent to y = f (x) at the point where x =0 and use it to
approximate f (0.2).
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3) Word Proplem: The rise in population of a town is directly proprtional to the number present at any

b) Popul

‘What was

e differential equation and the general solution

¢ population in 19207

Match the differential equation
ield graphed to the right.
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joff doubled in the 50 years between 1920 and 1970. In 1998, the population was 75,500.
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Derivative & Integral Rules “i"o memor e, 4o Z\; )(f

Derivative Rules:

Power Rule:
Trig Derivatives:
d \ d
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X G
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d , ;
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dx dx
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dx dx u
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dx dx e Ina u
Integral Rules:
Power Rule: Trig Integrals:
n+1 ] .
f "y, u L [sinudu=—cosu+C [cosudu=sinu+C
n+1
[sec’udu=tanu+C [secutanudu = secu+C
[esc?udu=—cotu+C [cscucotudu=—cscu+C
i - = u 1 5
—du =In|u|+C edu= e“*+C a‘du = {—|a*+C
u : Ina
More Trig Integral Rules:
jtanu du = —In|cosu| + C fsecu du = In|secu + tanu] + C
r £ < -
J cotu du = Inlsinu| + C cscudu = —Infcscu + cotu| +C
Arc-Trig Integral Rules
I L = msm - + C
~/ fl‘ - II‘
17. J 1‘T s = —arctan £ + C J 4y = ’“dl’L\EL M + C
{a- -+ u a a T, ”- =
Arc-Trlg derivative Rules
_u de o1 M A e o
19. [arcsm ul = T 20. —[arccos u] = =23 21 d\_[dl‘—tdn u] [+ 7
i. ] e P — . S 4 Drareesen] = — 1
22. dt[drccol ul = T+ 2 23. ch_[drmeL u] = W= 24. dx[drusc 1] " TTT
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Derivative & Integral Rules ""ﬁ;\ memorine. Ao Zé 5“{:

Derivative Rules:

Power Rule:
Trig Derivatives:
d d i
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Integral Rules:
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More Trig Integral Rules:
ftanu du = —In|cosu| + C

fsecu du = In|secu + tanu| + C
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Arc-Trig Integral Rules
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Arc-Trig derivative Rules ,
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